ETRIBHEEESE 19 56 6 RICEDE. WESETITETEDOSH 5 FEEMRNLE
NERUFXT.

(1) ZHEDRRBEIS

HUBERE A E BiRsERRE (S 2F)
50% 100% 25%

(2) BERICSEHZLUHEOLE

HEBIR =B BiRERRHRE (B2 4F)
4 0% 31. 6% 29. 4%

(3) BHEREDREELERE - B RESNMARIROEIGER

HEBIR m=¥hiE BiRERRHRE (B2 4F)
80% HERERL 0%

(4) BHEMEOE RAEOISE

HIBERE =B BiRsERRHAE (T2 4F)
30% HERERL 0%

(5) FOBEKBORGE
HEBRR E=A{E BiRsERRNME (S5 24F)
8 0% 58% 4 6%

(6) BIREIFMENFSHRISREIER
HEBIR =B BiRsERRHAE (T2 5F)
7 O BFREILAA 7 6. 25 7 1. 265#E

(7) FEXREHRNIBEESEE
HEBIR m#hiE BiRsERRE (£ 2F)
148E 14. 5H 11H




